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1) Solve by factoring or the quadratic formula 

a) x2 +5x=6 
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2) The slope of a horizontal line is 

3) Find the slope of the line through (1, 4) and (2, -5) 

4) Find the slope of the line 4y - 3x = 12 
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5) Graph 4y - 3x = 12 (make sure tc 

6) Any line perpendicular to y = 7x + 2 must have slope T 

7) Find the equation of the line through (-2, 4) with slope 2. 
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8) In the year 2000 a mathematical model for a company's income (in billions) was 
found to be f(x) = 1.2 + 0.3x where x = 0 corresponds to 1988. What should their income 
be if that model still holds true for 2013? 
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9) Solve each inequality. 

a) 2t+3>3t-1 (add a graph for this one) 
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b) 4<1-3x <10 
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d) x 2 +5x+4<0 
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10) Find the domain of f(x) = 'Ix —+ 3 
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11) Ifh(x)=2x 2 -5xfind 
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13) Graph g(x) = I x - 1 
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